
sliding door
display cabinet

© 2010 August Home Publishing Co.



hether it’s showing off a 
prized collection of first edi-

tions or a few pieces of a grandchild’s 
school-made pottery, there’s no end 
to the uses for a display cabinet. This 
one is both stylish and practical. 

The sliding doors offer a nice alter-
native to hinged doors, and they’re 

1	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

Feature 
Project

Sliding Door Display Cabinet
The perfect combination of style and functionality makes this cabinet an 
ideal place to exhibit a few special items.

also easy to make. The elegant look 
of the upper cabinet glass doors is 
achieved by using thin dividers over 
a single, large pane of glass. This cre-
ates a divided-light look without all 
the fuss of individual panes. 

OPTIONS. What’s really nice about 
this project is that it offers plenty of 

options for customization. By omit-
ting the upper sliding doors, you 
can create an attractive bookcase 
with concealed storage down below. 
And if you’re looking for something 
smaller, you can build just the lower 
cabinet for use as a sideboard or 
entertainment center (page 8).

W



ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
Upper and 

lower cabinets 
are attached

with threaded 
inserts and 

connector bolts 

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Frame and panel doors
rely on stub tenon and

groove joinery

Sturdy base
supports cabinet 

Recessed handles
don’t interfere with
stile of sliding
door

Mitered feet are
joined to aprons

with half laps

Plywood case is
joined with

hidden screws
for easy

assembly

Shop-made
moldings

cover screws

Hardwood
edging looks
great and is

easy to make
and install 

Built-up moldings on top
give the cabinet a classic look 

Adjustable
shelves 
provide

flexibility 

Plastic stem
bumpers ensure
smooth sliding
doors 

NOTE: A simple 
technique for making
divided light doors
begins on page 11 

Shop-made
glass stop
allows easy
installation
of large 
glass panels  

Sliding door
tracks are made
at router table

17!/4

SIDE SECTION
VIEW

2	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

Overall Dimensions: 423⁄4" W x 153⁄8" D x 763⁄4" H
Construction Details



how-to: Cut dadoes & rabbets

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDEA

Dado
blade

Rip
fence

17!/4

Dadoes. With a dado blade set to 
equal the thickness of the plywood, 
cut the dadoes for the bottom.

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

26%/8

13!/4

26

24!/4

39#/4

25%/8

14
40

38!/2
11#/8

13

39

38

A

A

B

C

D

E

F

G

H

H

I I

SIDE

SIDE

SIDE

TOP PANEL

BOTTOM
FILLER

BACK

LOWER FRONT
FILLER

SIDE FILLER
STRIP

FRONT
SIDE

EDGING

NOTE: Sides, bottom panel, top panel,
and bottom filler are #/4" plywood.
Back is !/4" plywood

#8 x 1!/2" Fh
woodscrew

2!/2

3!/2

9
Drill %/16"-dia.

holes for
connectors

BOTTOM
PANEL

LOWER BACK
FILLER

1!/2

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCB

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

FRONT
SECTION

VIEW
#/4"
ply.

%/8

H

C

E
A

H

17!/4

The lower cabinet not only provides 
a sturdy base for the upper unit, but 
it also contains all the joinery and 
construction techniques you’ll use 
for the rest of the project. So that’s 
the place to get started. As you can 
see in the drawing above, the cabinet 
starts out as a simple plywood case 
assembled with screws. 

Sides. Start by cutting the sides to 
final size. Then cut a dado near the 
bottom of each side to hold the bot-
tom panel. The box below shows you 
how to set up and make this cut. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
H

GI

A

E

#/4

TOP
SECTION

VIEW

1

1%/8

!/4

%/8

!/4

D

B

#6 x %/8" Fh woodscrew

17!/4

ZYXWVUTSRQPON

MLKJIHGF

F

EDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE SECTION VIEW#/4

1

B

D
H

A

G

I

1#/4

E

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCB

A

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

FRONT SECTION
VIEW%/8

!/4
1

B

D

E

F

H

#/4" ply.

17!/4

ZYXWVUTSRQPON

MLKJIHGF

F

E

E

DCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

1

%/8

!/2

INTERIOR VIEW

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

C
TOP PANEL

Aux.
fence

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
Aux.
fence

NOTE: Cut rabbet on back
edge of side and top panel

Dado
blade

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

END VIEW

#/4" ply.1

!/4 A

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

END VIEW

!/4

%/8

CA

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDEA

#/4" dado blade

Rip
fence

END VIEW

#/4" ply.

1!/4 A

%/8
Aux.
fence

C

17!/4
Rabbets. Using the same setup, attach an 
auxiliary fence to the rip fence to cut the rab-
bets on the ends of the top panel.

Back. Adjust the fence to expose only 
1⁄4" of the dado blade and cut the rab-
bets for the back in the sides and top.

Start with the Lower Cabinet

a.

3	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

Top & Bottom. Now turn to the top 
and bottom. The bottom is simply 
cut to size and set aside. After cut-
ting the top panel, you’ll need to add 
rabbets on the ends. You can cut 
the rabbets on the rear edges of the 
top and sides for the plywood back 
panel using the same setup. 

Assembly. With the sides, top, and 
bottom complete, it’s time to assem-
ble the basic case. Begin by fitting 

the bottom panel in the dado in the 
sides and drilling countersunk screw 
holes. Then, add a dab of glue, and 
drive the screws to attach the sides. 
The rabbet on the top panel fits over 
the sides. Once again, drill screw 
holes and attach the panel. 

Bottom Filler & Back. Next comes 
the bottom filler. It provides a flush 
surface for the bottom of the cabinet 
and creates a “pocket” for the track. 

b.

c. d.

a. a. a.

e.



Just cut the track to final size and 
install it with glue. Finally, you can 
cut the 1⁄4" plywood back to size and 
attach it with screws.

Side Filler Strips & Edging. The side 
filler strips flush the inside of the 
cabinet with the edging you’ll add 
next. You’ll need to resaw and plane 
these down to 1⁄4" thick. Cut them to 
final size and install them in the case 
with glue and clamps. Then cut the 
hardwood edging strips to size and 
glue them to the plywood.

Front & Back Fillers. Detail ‘e’ on the 
previous page shows how the end of 
the back filler strip is rabbeted to fit 
into the sides. The lower front filler 
strip is glued in place to flush out the 
front of the cabinet so you can add 
the moldings later.

Door Tracks. With the filler strips 
in place, you’re ready to add the 
upper and lower door tracks. After 
cutting a couple of extra-long blanks 
to width, I routed grooves in both 
pieces to hold the doors, as shown 
in the box at right. 

Note the different depths of 
the grooves. The upper track’s 
grooves are deeper to allow you to 
install the doors simply by lifting 
them up and setting them into the 
lower track. Once you’ve cut the 
tracks to final length, glue them in 
place (details ‘c’ and ‘d’). 

Shelf pin Holes. After laying out 
the hole locations, I used a hand-
held drill to drill the shelf pin 
holes inside the cabinet. I also 
added a stop collar on the bit to 
make sure not to drill too deep. 

Moldings. To give the cabinet a 
more refined look, I added bull-
nose and cove moldings on the 
upper and lower edges. I started 
by making the bullnose molding 
at the router table (detail ‘b’).

The bottom two drawings in the 
box at right show you how to get 
both the narrow upper and wide 
lower cove moldings from one 
blank. I simply routed the profile 
on both edges and then ripped the 
individual pieces to width. 

When the molding was finished, 
I mitered the ends and attached 
the pieces to the case with glue, as 
shown in details ‘c’ and ‘d.’

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

41!/2
41

14!/2

14#/4

38

41!/2

41

14!/2

14#/4

8#/4

Shelf pin holes are
!/4" dia. x #/8" deep

J
UPPER DOOR

TRACK

LOWER DOOR
TRACK

J

K

BULLNOSE
MOLDING

L

M

LOWER COVE
MOLDING

L

L

K

K UPPER
COVE

MOLDING
K

1#/8

K

17!/4

4	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

D

E

1!/2

8#/4

1!/2

8#/8

how-to: rout the track & cove molding

Door Tracks. Rout both grooves by flipping 
the workpiece in between passes. Then reposi-
tion the fence to widen the grooves.

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

#/8" cove
bit

2"-wide
cove molding

blank
M

L

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

L

MPush
block

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
!/8

#/8
END

VIEW

!/2

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

1#/8 L

M

END VIEW

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES

Flip
workpiece
between

passes

!/16

#8 x 1!/4" Fh woodscrew

J

!/2" straight
bit

DOOR
TRACK

 
NOTE: 
Reposition fence
after first two
passes to widen
grooves

NOTE: This

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

(/32 J

!/4

1!/16
END VIEW

@%/32 @%/32

17!/4

ZYXWVUTSRQPO

MLKJIHGFEDCB

B B

II LL

UTR UTR

NN

ZZYYXXWW

SSQQPP

MMKKJJ

G GF FEEDDCC

END VIEW

NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

J

UPPER
DOOR
TRACK

NOTE: Rout
upper door
track only

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

(/32 J

(/16

1!/16 END VIEW

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew SIDE SECTION
VIEW

!/4

1

!/2

(/32 (/32

@%/32

@%/32

#/4

K

L
J

#/8" 
cove

17!/4
1#/8

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE SECTION VIEW

KM

J

Top panel

!/2

!/2

(/16

2#/8

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

END
VIEW

!/8

!/2

1"
roundover

bit

K

Feather-
board

Push
block

17!/4

Upper Door Track. To complete the upper 
track, raise the bit and make a second series of 
passes to deepen the grooves. 

Rip to Width. Rip the individual strips to final 
width with the wider piece against the fence. 
The narrower molding falls safely to the side.  

Rout the Coves. Start with an extra-wide 
workpiece so you can rout the coves for 
both the upper and lower moldings safely.

a.

a.

a.

a.

a.

c. d.b.



how-to: cut the apron joinery & curves

The lower cabinet rests on a sturdy 
base. One of the advantages of this 
design is that it keeps the cabinet up 
off the floor, making the contents of 
the lower cabinet more accessible. 
The base also provides an easy 
means of leveling the cabinet for 
slightly uneven floors.

The base consists of front, rear, 
and side aprons that are joined to cor-
ner blocks with screws. The corner 

Half-Lap Joints. With an auxiliary 
fence on the miter gauge, use the rip 
fence as a stop to cut the half laps.

40!/4

3

3!/2

35
13

8!/2

2#/4

2

1

38!/4

10!/4

38!/4

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

N

N

O

P

P

P
P

P

P

Q

QQ

R

R

R

S

S

REAR APRON

FRONT APRON

O
SIDE APRON

FOOT

FOOT

CORNER BLOCKS

ADJUSTABLE
SHELF

SHELF EDGING

NOTE: Corner blocks
are glued up from

two #/4"-thick
hardwood pieces

Arc starts at
half lap

1!/2

NOTE: Aprons, feet, and
shelf edging are made
from #/4"-thick hardwood.
Adjustable shelf is
#/4" plywood

NOTE: Levelers only 
required at front
corners of base

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

2%/8

#/8

#/8

2

2

!/2

2!/4

#/8

Arc on lower
edge of apron

begins at
half lap

1!/2

#8 x 1" Fh
woodscrewN

O

P

P

#/8"-16 x 2"
carriage bolt
with T-nut

Q

#/4" chamfer

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/2" Fh woodscrew

!/16"
chamfer

PP

O

N

!/2

1!/2

Q

#8 x 1!/2" Fh
woodscrew

SIDE SECTION VIEW

&/16"-dia.
hole

17!/4

ZYXWVUTSRQP

ON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Rip fence
acts as
stop

#/4" dado
blade

Aux.
fence

NOTE: Half-lap
dimension varies

see detail ‘b’

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Cut to waste side
of layout line

Apron

FIRST: Cut to waste
side of layout line

SECOND: Sand
edge smooth

17!/4

Apron

Clamp

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Start arc on lower
edge of apron at
shoulder of half lap

Nail holds
hardboard arc
1" above bottom
of apron

Clamps
hold hardboard at ends

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

END VIEW

2!/4

#8 x 1!/4" Fh woodscrew

#/8
O

17!/4

a.

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
SECTION

VIEW

1
S

R

1!/4

#/4

!/4

S

!/16" chamfer
Case
back

Shelf
pin

17!/4

Layout. A strip of 1⁄4" hardboard is perfect for 
laying out the curve. Just bend it to the high 
point at the centerline and trace the shape.

Cut the Curves. Using a 1⁄4" blade in the 
band saw, you can simply cut to the waste 
side of your layout marks.

Adding the Base & Adjustable Shelf

5	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

a.

b.

c.

blocks also incorporate levelers. The 
front and side aprons feature gentle 
curves. Mitered feet are joined to the 
apron with half laps.  

Apron. I started by cutting the 
apron pieces to final size. After that, 
you can get to work cutting the half 
laps on both ends of each piece. For 
this, I installed a dado blade in the 
table saw and an auxiliary fence 
on my miter gauge. Use a mating 

test piece to sneak up on the blade 
height for perfect-fitting half laps. 

I also drilled a series of counter-
sunk screw holes in the bottom edge 
of each of the apron pieces, as you 
can see in detail ‘c’ above. These 
holes allow you to fasten the base to 
the lower cabinet with screws.



how-to: cut the feet

shop tip: shelf edgingWith the half laps complete, I laid 
out the curves on the side and front 
aprons using a strip of hardboard. 
Next, I moved to the band saw and 
cut the curves. The How-To box on 
the previous page walks you through 
each of these steps. 

Feet. Now it’s time to cut the pieces 
that form the feet. The box below 
shows how I cut the half laps and 
miters by starting with oversized 
pieces. After completing the cuts, lay 
out and cut the small taper in each 
piece, as shown in detail ‘b’ on the 
previous page. I also chamfered the 
bottom edges at the router table.

corner Blocks. The corner blocks 
are glued up from two pieces of 3⁄4"-
thick stock. After cutting the corner 
blocks to size, tilt your table saw 
blade to 45° and cut the chamfer on 
the inside corner.

The two front blocks also serve 
as shop-made levelers for the base. 
I simply drilled a hole through the 
blocks and installed a T-nut (details ‘b’ 
and ‘c’). A carriage bolt in the insert 
provides plenty of adjustability. 

Assembly. At this point, you’re 
ready to assemble the base. For 
this, I started by gluing and clamp-
ing the corner blocks flush to the 
ends of the side aprons. You can 
then drill countersunk pilot holes 
through the aprons and into the 
blocks and drive in the screws. 
After removing the clamps, repeat 
the same process with the front and 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew Rip fence
acts as
stop

Aux.
fence

Dado
blade

P

P

17!/4

Half Laps. Starting with an oversized 
blank, use the dado blade to cut the 
half laps in both ends of the blank. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
P

P

Aux.
fence

3!/2

Stop block

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Push
block

Tilt blade
45°

P

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

END
VIEW

Push block
3

P

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

END VIEW
Aux. fence

3!/2

P
Stop block

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/2" straight
bit

SS

NOTE: Start
with extra-
wide blank

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

S

S

NOTE: Use push
block on end
of workpiece

17!/4

Rout the Wide Groove. An easy and 
safe way to make the edging is to rout 
the groove in an extra-wide blank.

Ripping the Blank. Set the rip fence to the 
final width of the edging and use a push 
block to rip the edging to final size.

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/4

!/4

S S

END VIEW
!/4

#/4

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

#/4" straight
bit

S S

!/4

!/4

S S

END VIEW
!/4

END
VIEW

1

S S

Push block

17!/4

Miter Joints. Begin by setting the table 
saw blade to 45°, and then make the mi-
ter cut using a push block.

Cut to Length. After adjusting the blade 
to 90°, you’re ready to use the miter 
gauge to crosscut each foot to length. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

P

P

END VIEW

2

#8 x 1!/4" Fh woodscrew

#/8

17!/4 6	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

a.

back aprons, making sure to keep 
the ends aligned with the sides.

All that remains is to add the feet. 
I began by assembling the right and 
left halves with tape holding the 
miters. Then I added glue to the joint 
and to the faces of the half laps. You 
can simply clamp the feet in place 
on the aprons and set the assembly 
aside to let the glue dry. 

Adjustable Shelf & Edging. The next 
step is to add the adjustable shelf. 
After cutting the plywood shelf to 
final size, turn your attention to 
the hardwood edging. As you see 
in detail ‘a’ on the previous page, 
the edging has a rabbet that wraps 

around the edge of the shelf. Once 
again, the key to making the edging 
safely is to start with a wide blank. 
The box above shows the process.

I started by routing the outside  
of the groove, and then I flipped the 
blank and routed the opposite side. 
To complete the wide groove, rout 
away the waste left in the center by 
resetting the fence. 

Now install a rip blade in the table 
saw and rip the blank, forming two 
strips of edging. I also routed a small 
chamfer on the corners of the edg-
ing. After gluing the edging to the 
shelf, you can set it aside and get to 
work on the doors.

a.

a.a.a.



how-to: stub tenons & grooves

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

23!/4

2!/2

18#/4

2!/2

7#/8

18#/4

16!/4
15!/4

2#/4
T

TU

U

V

W

W

DOOR RAIL

DOOR RAIL
DOOR STILE

DOOR PANEL

Door pull
CENTER
DOOR
STILE

NOTE: Door stiles and
rails are made from

#/4"-thick hardwood. Door
panels are !/4" plywood

Drill #/16"-dia.
hole, %/8"deep

for stem bumper

NOTE: See page 13 for
more information about

making recess for door pull

NOTE: Insert door into
upper track and swing

into position

17!/4

1

2

3

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
SECTION

VIEW

Top panel

!/4" ply.

TUUpper
door
track

!/2
W

17!/4

1

2

3

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
SIDE

SECTION
VIEW

Stem
bumper

TLower
door
track

U

Bottom
filler

W

17!/4

1

2

3

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew TOP SECTION VIEW

U

U W

W

!/2

!/4" ply.

17!/4

1

2

3

With the moldings in place and 
the base attached, all that remains 
to complete the lower cabinet is to 
add the doors. The sliding doors 
are a nice departure from standard, 
hinged doors. Not only do they add 
an interesting visual appeal, but they 
also allow you to skip the hassle of 
installing fussy hinges. 

I used a simple frame and panel 
design for the doors. Stub tenon and 
groove joinery is the perfect way to 
build long-lasting doors, and it’s also 
an easy technique to master. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

V

UT

NOTE: Size
groove to fit
!/4" plywood

Door
frame

17!/4

Cut the Grooves. With the blade rough-
ly centered on the thickness, make a first 
pass. Then flip the workpiece and repeat.

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/4" dado
blade

Use rip
fence
as stop

VT

Aux.
fence

17!/4
Stub Tenons. Set the blade height by sneak-
ing up on a snug-fitting tenon, checking the 
fit in one of the stiles after each adjustment. 

7	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDEA

#/4" dado blade

Rip
fence

END
VIEW

!/4" ply.

1!/4 A

!/2

Aux.
fence

CA

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDEA

#/4" dado blade

Rip
fence

END
VIEW

1!/4 A

!/2

Aux.
fence

CA

17!/4

a.

b.

c.

a. a.

Building the Sliding Cabinet Doors
You have the option of using either 

wood or glass panels (see photos at 
the bottom of the next page). The 
basic construction is the same for 
both. But I’ll show you a router 
technique that allows you to quickly 
make an opening for the glass. And 
by using shop-made glass stop, it’s 
easy to replace a damaged panel. 

doors. Like any frame and panel 
door, making these doors starts with 
the rails and stiles. However, as you 
can see in the drawing above, I’ve 
also included a center stile to divide 

the door panels. This gives the wood 
panel doors a slightly more formal 
look, and it also accommodates the 
glass option more effectively by 
allowing you to use two smaller pan-
els rather than a single larger one.

There’s one thing to keep in mind 
whenever making door parts. Make 
sure the stock is perfectly flat. Any 
twist or bend will make it very dif-
ficult to build a door that fits well.  

Cut the grooves & tenons. The next 
step is to cut the grooves for the pan-
els in all the door parts. The box at 
left shows you an easy way to do this 
and keep the groove centered on the 
thickness of the workpiece. 

Start by setting the rip fence to 
make a cut just off center on one of 
the pieces. Make the first cut, and 
then flip the workpiece end-for-end 
and make another pass. The result-
ing groove will be perfectly centered. 
Test the fit of the panel and adjust the 
fence for another pass, if necessary. 
In addition to cutting this groove in 
all the rails and stiles, you’ll want to 
remember to cut it on both sides of 
the center stile, as well. 



Cutting the tenons is simply a 
matter of installing a dado blade 
and an auxiliary fence on the 
miter gauge. Use a scrap piece to 
sneak up on the right blade height 
for a snug-fitting tenon. I found it 
helpful to use the rip fence as a 
stop to make sure all the tenons 
were exactly the same length.

Stem Bumpers. To make sure the 
doors slide smoothly, I added 
nylon stem bumpers to the bot-
tom edges. All you need to do is 
drill 3⁄16"-dia.  holes in the bottoms 
of the stiles, as shown in detail ‘b’ 
on the previous page.

Panels & Assembly. Now it’s time 
to prepare the panels and assem-
ble the doors. As I mentioned 
earlier, I used 1⁄4" plywood for the 
door panels. After cutting them 
to size, I like to dry-fit the door 
before adding glue to the assem-
bly. After that, simply glue up the 
frame around the panels, clamp-
ing the doors across each rail. 

After the glue dries, you’ll need 
to rout the recesses for the door 
handles. You can find a tip about 
how to do this on page 13.

Routing for Glass Doors. If you 
choose to make glass panel doors, 
the process is nearly the same. 
But instead of adding the panels 
when assembling the frame, you 
simply glue up the frames and set 
them aside to dry. Then you can 
use a rabbeting bit in your router 
to remove the lip on the inside of 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Glass
door

interior

Rout in
direction

shown

Clean corners of
rabbet with chisel

after routing

17!/4

Rout a Recess. Using a router and a 1⁄2" rabbeting bit, rout out 
the back of the openings in the doors for the glass. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
SECTION

VIEW

SECTION VIEW
&/16

%/16

#/16" chamferGlass

Door
frame

17!/4

8	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

{	 Beveled glass panels give the cabinet a completely different look. 
They’re a great choice for an entertainment center since they 
allow infrared signals to pass through.

a.
the doors. The drawing at right 
shows you what I mean. After 
cleaning up the corners with a 
chisel, just set the glass in place 
and add the glass stop that you 
see on page 12.

Installing the doors. The main 
drawing on the previous page 
shows how to install the doors. 
Simply insert the upper edge of 
the door into the track, swing the 
door into position, and then set it 
into the lower track.

{	 If you plan to use the cabinet for storage, installing wood-panel 
doors is a good way to conceal the contents and hide any clutter. 
They also provide a classic look and are easy to build.

A	 Sides (2)	 3/4 ply. - 131/4 x 265/8
B	 Bottom Panel (1)	 3/4 ply. - 13 x 39
C	 Top Panel (1)	 3/4 ply. - 14 x 40
D	 Bottom Filler (1)	 3/4 ply. - 113/8 x 381/2
E	 Back (1)	 1/4 ply. - 393/4 x 255/8
F	 Lower Back Filler (1)	 3/4 x 1 - 393/4
G	 Lower Front Filler (1)	 3/4 x 13/4 - 38
H	 Side Filler Strips (2)	 1/4 x 15/8 - 241/4
I	 Front Side Edging (2)	 3/4 x 1 - 26
J	 Upper/Lower Door Tracks (2)	 3/4 x 23/8 - 38
K	 Bullnose Molding (1)	 3/4 x 1 - 150 rgh.
L	 Lower Cove Molding (1)	 1/2 x 13/8 - 75 rgh.
M	Upper Cove Molding (1)	 1/2 x 1/2 - 75 rgh.
N	 Front/Rear Aprons (2)	 3/4 x 2 - 401/4
O	 Side Aprons (2)	 3/4 x 2 - 13
P	 Feet (8)	 3/4 x 3 - 31/2

Q	 Corner Blocks (4)	 11/2 x 11/2 - 23/4
R	 Adjustable Shelf (1)	 3/4 ply. - 101/4 x 381/4
S	 Shelf Edging (2)	 3/4 x 1 - 381/4
T	 Door Rails (4)	 3/4 x 23/4 - 161/4
U	 Door Stiles (4)	 3/4 x 21/2 - 231/4
V	 Center Stiles (2)	 3/4 x 21/2 - 183/4
W 	Door Panels (2)	 1/4 ply. - 73/8 x 183/4

(4) Stem Bumpers
(4) Stem Bumpers
(2) 3/8"-16 T-Nuts
(2) 3/8"-16 x 2" Carriage Bolts
(2) 90 x 31mm Recessed Pulls w/Screws
(14) No. 6 x 5/8" Fh Woodscrews
(16) No. 8 x 1" Fh Woodscrews
(22) No. 8 x 11/2" Fh Woodscrews

Materials, Hardware & cutting diagram (lower Cabinet & Base)

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

#/4"x 8"- 60" Cherry (4.83 Bd. Ft.) 

#/4"x 8"- 60" Cherry (4.83 Bd. Ft.) 

#/4"x 8"- 60" Cherry (4.83 Bd. Ft.) 

#/4"x 9!/4"- 72" Cherry (4.6 Bd. Ft.) #/4"x 9!/4"- 84" Cherry (5.4 Bd. Ft.) 

#/4"x 8!/2"- 96" Cherry (5.7 Bd. Ft.) 

#/4"x 8!/2"- 72" Cherry (4.3 Bd. Ft.) 

#/4"x 9!/4"- 84" Cherry (5.4 Bd. Ft.) 

G
J

F

H I

K

T T

N O

ML

U

S

U

V Q

NOTE: Parts L and M are planed to !/2" thick.
           Part H is planed to !/4" thick

P P P P P P P P

ALSO NEEDED: One sheet of 48" x 96" #/4" Cherry plywood.
                          One sheet of 48" x 48" !/4" Cherry plywood
                           

Q

17!/4



how-to: rounded molding

With the base and lower cabinet 
complete, you’re ready to get started 
on the upper cabinet. The good news 
is that, aside from the dimensions, 
there are only a few differences from 
the lower cabinet. Most of the joinery, 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

B

C

D

E

TOP

BACK

SIDE
FILLER
STRIP

FRONT SIDE
EDGING

#8 x 1!/2" Fh
woodscrew

45#/4

12&/8 39

45#/4

13#/8

38!/4
A

BOTTOM
FILLER

B BOTTOM

F

F

E 37#/4

SIDE

NOTE: Sides, bottom,
top, and bottom filler
are #/4" plywood. Back
is !/4" plywood

A

44!/4

11

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCB

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

FRONT SECTION
VIEW

#/4" ply.

!/4

H

D

E
A

B

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

FRONT SECTION
VIEW

!/4

#/4" ply.

A
!/4

B

C

E
D

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/2" roundover
bit

J

FIRST: Rout !/2"
roundover on
lower face
of blank

SECOND: Lower bit and flip
workpiece over to rout
upper face

17!/4

Roundover. With the blank ripped to final width, 
round over one edge on the router table. Note 
the different bit height for the second pass.

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

J

Chamfer
bit

NOTE: Rout
chamfer on
upper face

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/4" roundover
bit

J

END VIEW
!/2

!/2 J

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
E

BF

A

D

#/4

TOP SECTION
VIEW

1

1%/8

!/4

%/8

!/4

C

#6 x %/8" Fh woodscrew

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew SIDE SECTION VIEW

B

C

E
A

F

D

17!/4

D

E

1!/2

9!/2

1!/2

8#/8 1!/2

ZYXWVUTSRQPON

MLKJIHGFEDCB

A

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

FRONT
SECTION

VIEW

%/8

#/4

H

C

E

1!/2

8

12

25

SIDE SECTION VIEW

#8 x 1!/4" Fh woodscrew

D
BACK

A SIDE

E

C

F

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/4" roundover
bit

J

END VIEW

!/2

!/4

J

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/4" roundover
bit

J

END VIEW

!/2

!/4

!/4

J

17!/4

Chamfer. Complete the molding by 
installing a chamfer bit and routing 
the chamfer on the opposite edge.

Starting the Upper Cabinet

9	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

moldings, assembly processes, and 
techniques are the same. You’ll start 
by building the basic case.

Case Construction. As before, you 
can begin by cutting the sides, top, 
and bottom to final size. Next, install 

a dado blade and an auxiliary rip 
fence, and cut the rabbets on the 
ends of the sides. Then set the fence 
to expose 1⁄4" of the dado blade and 
cut the rabbet for the back on the 
back edge of the sides. 

Assembly. Now you can drill coun-
tersunk screw holes in the sides, 
and assemble the case using glue 
and screws. After cutting the bottom 
filler to final size, I attached it with 
glue. The 1⁄4" plywood back is then 
attached with screws. 

Fillers & Edging. The side filler strip 
and front edging work together as 
they did in the lower cabinet to pro-
tect the cabinet sides and hide the 
plywood edges. You can see how 
they’re attached in details ‘d’ and ‘e.’

Shelf pin holes. Detail ‘a’ shows the 
locations for the shelf pin holes. 
Once again, I laid out the locations 
and then just used a hand-held drill 
to drill the holes.

a.

b.

c.

d.

e.

a.

b. a.



Door Tracks. The door tracks are 
the next component to be 
installed. (Note: If you’re 
building the cabinet without 
doors, you can skip rout-
ing the door grooves in the 
lower track and leave out 
the upper track entirely.) 

Moldings. As you can see 
at right, the moldings are 
a bit different here. In addi-
tion to the cove moldings, I 
added a rounded-edge mold-
ing at the top of the cabinet to cre-
ate a crown molding effect (detail 
‘b’). You can see how I made the 
rounded molding in the drawings at 
the bottom of the previous page. 

The cove moldings are made using 
the same techniques as before (page 
4), but they’re arranged a little dif-
ferently. On this cabinet, I used the 
wider cove molding on both the 
upper and lower edges. Then, as in 
detail ‘b’ at right, I added the nar-
rower cove molding to the top. 

After building up these layers, the 
rounded molding completes the look. 
To install this molding, miter the 
ends and glue it in place. Add a filler 
strip in back to complete the top.

Shelves & Edging. This taller cabinet 
has two adjustable shelves. After 
cutting the shelves to size, I attached 
the same type of edging used on the 
lower cabinet’s shelf (page 6). 

Connecting the Cabinets. Details ‘c’ 
and ‘d’ show how I used threaded 
inserts and connector bolts to con-
nect the cabinets. This makes it 
easy to take them apart if you need 
to move the cabinet.

The box at right gives you the 
details of how to mark the holes on 
the bottom of the upper unit for the 
threaded inserts. After drilling the 
holes, turn the cabinet upside down 
and set it on the floor to install the 
inserts. The thing to keep in mind 
here is to be careful to keep them 
straight in the holes to guarantee a 
good fit for the connector bolts. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

15#/8

14&/8

14!/8

37#/442#4

40!/4
41#/4

37!/2

37!/2
9&/8

37!/4

40!/4

14!/8

M

L

K

J

I

H

G

ROUNDED
MOLDINGJ

K BACK FILLER

I
CROWN
COVE

MOLDING

I

COVE
MOLDING

H
G

ADJUSTABLE
SHELF

M

M
SHELF

EDGING

G

LOWER
DOOR
TRACK

H

COVE
MOLDING

H!/4"-20
threaded

insertConnector
bolt

NOTE: Back filler is
!/2"-thick hardwood1!/2

17!/4

10	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

how-to: connecting the cabinets

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Brad-
point

bit

17!/4

Mark the Spot. Use a brad-point drill bit to 
mark the hole location for the threaded in-
serts on the bottom of the upper cabinet.

Drill the Hole. Slide the cabinet over and 
drill the hole for the threaded inserts. A piece 
of tape on the bit serves as a depth guide.

ZYXWVUTSRQPON

MLKJ

I

HFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
SECTION

VIEW

#/4

#/4
2!/2

1#/8

Lower
cabinet top

Upper cabinet
bottom

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Tape on
bit acts as
depth
guide

#/8"
brad-

point bit

Upper
cabinet
bottom

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Upper case
bottom

Back

Connector bolt

Side

!/2

Tape
FRONT
SECTION
VIEW

17!/4

ZYXWVUTSRQPON

MLK

J

I
H G

FEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE SECTION
VIEW

Top

#/4

#/4

#/4

!/2

2!/2

1#/8 !/2"
cove

17!/4

ZYXWVUTSRQPON

MLKJ

I

H

G

FEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew
SIDE SECTION

VIEW

#/4

#/4
2!/2

1#/8

B UPPER CASE
BOTTOM

Lower cabinet
top

30mm
connector

bolt

Threaded
insert

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE SECTION
VIEW

Lower cabinet
top

Upper cabinet
bottom

Back

30mm connector bolt

Threaded
insert

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

FRONT SECTION
VIEW

Lower
cabinet top

Upper cabinet
bottom

Back

Connector bolt

Side

H

17!/4

a.

a. a.

b.

c.

d.



ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

38#/4

2#/4
2!/2

43!/4
15&/8

14&/8

15&/8

1!/4

R

Q

P

O

N RAIL

STILE

O

N

VERTICAL
DIVIDER

HORIZONTAL
DIVIDER

Q

GLASS
STOP

R
R

15#/4" x 38&/8"-
!/8"-thick glass

(sized !/8" smaller
than rabbeted

opening)

NOTE: Rails and stiles
are #/4"-thick hardwood.

Dividers are !/4"-thick
hardwood

Stem bumper

NOTE: For more information on making
the door handle recess, see page 13

NOTE:
Glue

dividers
together
and use
grid to
lay out

notches
on door

frame

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
SECTION

VIEW

EXTERIOR
VIEW

Q

P

1!/4
!/4

!/8

1!/4

!/8

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
SECTION

VIEW

INTERIOR VIEW

P Q

ON

!/8

!/2

1!/4

!/8

17!/4

ZYXWVUTSRQ

P

ON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
SECTION
VIEW

N

Glass

!/8

!/2

R

&/16

#/16

%/16

17!/4

The last major operation to take care 
of is to make another set of sliding 
cabinet doors, this time to complete 
the upper cabinet. As you can see in 
the drawing above, the design of the 
upper cabinet doors is similar to that 
of the lower cabinet doors. Except 
for this cabinet, I added vertical and 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

38#/4

2#/4
2!/2

43!/4
15&/8

14&/8

15&/8

1!/4

R

Q

P

O

N RAIL

STILE

O

N

VERTICAL
DIVIDER

HORIZONTAL
DIVIDER

Q

GLASS
STOP

R
R

15#/4" x 38&/8"-
!/8"-thick glass

(sized !/8" smaller
than rabbeted

opening)

NOTE: Rails and stiles
are #/4"-thick hardwood.

Dividers are !/4"-thick
hardwood

Stem bumper

NOTE: For more information on making
the door handle recess, see page 13

NOTE:
Glue

dividers
together
and use
grid to
lay out

notches
on door

frame

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDE
VIEW

EXTERIOR
VIEW

Q

P

1!/4

!/4

!/8

1!/4

!/8

12!/4

1!/4

12!/4

P

VERTICAL
DIVIDER

Outside
face 

17!/4

11	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

Adding the
    Upper Cabinet Doors

how-to: cut divider half laps

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/4" dado
blade

QP

Use rip
fence as
stop

Aux.
fence

17!/4

Shallow Rabbets. With these thin 
workpieces, sneaking up on the correct 
blade height is the key to good results. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Start half lap at
center. Check for

correct fit

QP

17!/4

Centered Cut. Using the rip fence as 
a stop, cut the workpiece and flip it to 
slowly widen the half lap to fit. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES  This

!/16

#8 x 1!/4" Fh woodscrew

NOTE: Score outline
of notch with chisel

Hold chisel flat
against shoulder

of glass rabbet
QP

17!/4

Notch the Rails & Stiles. A chisel makes 
short work of creating the notches that 
will hold the dividers in place. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDEA

#/4" dado blade

Rip
fence

END
VIEW!/2

1!/4 A

%/8 Aux.
fence

QP

!/8

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

SIDEA

#/4" dado blade

Rip
fence

END VIEW

1!/4

1!/4 A

%/8 Aux.
fence

QP
!/8

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

Score marks
help removal

of waste

17!/4

horizontal dividers to give the glass 
doors a divided-light look. 

Rails & Stiles. Just as you did earlier 
for the lower cabinet doors, start by 
cutting the rails and stiles to size. 
Cut the grooves and the stub tenons, 
and drill holes for the stem bumpers 
in the bottoms of the stiles.

At this point, the technique for 
making the doors departs from the 
earlier method. You’ll need to glue 
up the rails and stiles now, and set 
them aside to dry. 

Before you can add the dividers, 
you have to rout away the inside lip of 
the grooves (drawing on page 8).

a.

a. a. a.

b.

c.

d.



how-to: make thin glass stopDoor Pulls. You can also rout the 
recesses for the door pulls now. Use 
the same technique as you did on 
the doors of the lower cabinet. 

Dividers. To get started on the 
dividers, I resawed and planed some 
of the stock down to 1⁄4" thick. The 
pieces are only 11⁄4" wide, so you can 
resaw it at the table saw safely and 
easily. Then, plane it to thickness. 

The dividers are assembled with 
half-lap joints. Detail ‘a’ on the previ-
ous page shows the locations on the 
vertical dividers. The notch in the 
horizontal divider is simply centered 
on the length of the piece. The box 
at the bottom of the previous page 
shows you how to cut the shallow 
half laps and the centered half lap 
on the horizontal dividers. After com-
pleting the cuts, glue up the dividers 
and set them aside to dry.  

Adding the dividers. With the divid-
ers glued up into grids, the next step 
is to mark the locations and cut the 
notches in the door frames that will 
house the ends of the dividers. Lay 
the assembled dividers on the doors 
and mark each position. Use a chisel 
to cut a shallow notch for the ends 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

R
Chamfer

bit

Wide
blank

17!/4

Chamfer the Edges. An extra-wide work-
piece allows you to safely chamfer the 
edges of the glass stops. 

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

R

Push
block

Rip glass stop
from edge
of blank

17!/4ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

!/4" roundover
bit

J

END VIEW

!/2

#/16
R

R%/16

&/16

17!/4

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

#/4" straight
bit

S S

!/4

!/4

S S

END VIEW
!/4

END VIEW

#/4

&/16

R

Waste

Push
block

R

Rip to Width. Set the rip fence so the 
workpiece falls to the outside of the blade, 
and use a push block to make the cut.

12	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

A	 Sides (2)	 3/4 ply. - 127/8 x 453/4
B	 Top/Bottom (2)	 3/4 ply. - 133/8 x 381/4
C	 Bottom Filler (1)	 3/4 ply. - 11 x 373/4
D	 Back (1)	 1/4 ply. - 39 x 453/4
E	 Side Filler Strips (2)	 1/4 x 15/8 - 441/4
F	 Front Side Edging (2)	 3/4 x 1 - 441/4
G	 Door Tracks (2)	 3/4 x 23/8 - 371/4
H	 Cove Molding (1)	 1/2 x 13/8 - 150 rgh.
I	 Crown Cove Molding (1)	 3/4 x 3/4 - 75 rgh.
J	 Rounded Molding (1)	 3/4 x 21/2 - 75 rgh.
K	 Back Filler (1)	 1/2 x 11/2 - 373/4
L	 Adjustable Shelf (2)	 3/4 ply. - 97/8 x 371/2
M	Shelf Edging (4)	 3/4 x 1 - 371/2

N	 Door Rails (4)	 3/4 x 23/4 - 157/8
O	 Door Stiles (4)	 3/4 x 21/2 - 431/4
P	 Vertical Dividers (2)	 1/4 x 11/4 - 383/4
Q	 Horizontal Dividers (4)	 1/4 x 11/4 - 157/8
R	 Glass Stop (1)	 5/16 x 7/16 - 150 rgh.
(4) Stem Bumpers
(4) 1/4"-20 Brass Threaded Inserts
(4) 1/4"-20 x 30mm Connector Bolts
(8) Shelf Supports
(2) Recessed Pulls w/Screws
(14) No. 6 x 5/8" Fh Woodscrews
(12) No. 8 x 11/2" Fh Woodscrews
(2) 157/8" x 373/4" Glass Panels (1/8" thick)

a. a.

of the dividers. The right drawing in 
the box on the previous page shows 
you the technique. When you’ve 
completed the notches, simply glue 
the dividers in place.   

Glass Stop. The last step before 
adding the glass is to make some 
glass stop. The How-To box above 
shows you an easy way to do this. 

Once you’ve finished, simply miter 
the pieces to length. After fitting the 
glass, you can attach the stop with 
small brads. This technique makes 
it easy to replace the glass in case 
it’s ever damaged in the future. 

After applying the finish, you’re 
ready to pick the perfect spot in your 
home for the cabinet. 

Materials, Hardware & cutting diagram (upper Cabinet)

ZYXWVUTSRQPON

MLKJIHGFEDCBA

A A B B

HH II LL

UTR UTR

NN

ZZYYXXWWVV

SSQQPPOO

MMKKJJ

G GF FEEDDCC

CROSS SECTION END VIEW

PART NAMES NOTE: This

!/16

#8 x 1!/4" Fh woodscrew

#/4"x 8"- 60" Cherry (4.83 Bd. Ft.) 

#/4"x 8"- 60" Cherry (4.83 Bd. Ft.) 

#/4"x 8"- 60" Cherry (4.83 Bd. Ft.) 

#/4"x 3!/2"- 72" Cherry (1.8 Bd. Ft.) 

#/4"x 9!/4"- 84" Cherry (5.4 Bd. Ft.) 

#/4"x 8!/2"- 96" Cherry (5.7 Bd. Ft.) 

#/4"x 8!/2"- 72" Cherry (4.3 Bd. Ft.) 

#/4"x 9!/4"- 84" Cherry (5.4 Bd. Ft.) 

E

NOTE: Part E is planed down to !/4" thick

G
G

K

F

I H

J
R

#/4"x 9!/4"- 96" Cherry (6.2 Bd. Ft.) 
O
O

O
O

N N N N P Q

NOTE: Parts H and K are planed to !/2" thick.
           Part R is planed &/16" thick

NOTE: Parts P and Q are planed to !/4" thick

ALSO NEEDED: One 48" x 96" sheet of #/4"Cherry plywood.
                          One 48" x 48" sheet of !/4" Cherry plywood

M

17!/4



13	 WoodsmithShop.com	 © 2010 August Home Publishing Co. All Rights Reserved.

The sliding doors of the cabinet are 
fitted with brass pulls, as mentioned 
on page 8 and illustrated on pages 7 
and 11. These pulls fit into shallow 
recesses routed in the door stiles. 

To create the recesses, I used a 
template and a bearing-guided bit. 
The template is nothing more than a 
piece of 1⁄2" MDF with an oval opening 
that’s sized to fit the pull, as shown 
in the drawing above. A cleat along 

FIRST: This is

FIRST: Center
template on

length of
door stile

SECOND: This

SECOND: Rout 
out recess in
multiple passes

NOTE: Attach
template to door with 

double-sided tape

 1

#8 x 3" Fh woodscrew

Lower bit
between passes

Dado
cleanout

bit

!/2Cleat

NOTE: Drill 
#/16"-dia.
holes 3"

on center
for screws

 2

1!/4

5

12

#/4

2#/8

1" dia.

NOTE: Template and cleat 
are made out of !/2"MDF

DOOR PULL TEMPLATE

one edge centers the opening on the 
width of the door stile.

To rout the recess, attach the tem-
plate to the door stile with double-
sided tape. Use a dado cleanout bit 

and the template to rout out the waste 
in multiple passes (Figure 1). 

Once the waste is removed, you 
can drill a couple of holes for the 
mounting screws (Figure 2).

Routing Door Pull Recess

a.{ Recessed pulls allow 
the doors to slide freely 

past one another.


